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����,+-�.��� /0�1�"�#$�%�&� �� �-������.�2�
�'(� �
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�5)��*��+��  �
����  '*����#6 �./. 2527-2531 :+5���(#������5������ ���+ 20
× 40 �� ��%�� ).���� 5 (#�� �.�(�����,=���+��-�� 10 %�� :+5 �2���(#�� �.�*�+"*-(#������5���
��� 1 %�����#6, (#����� 2 %����� 2 #6, (#����� 3 %����� 3#6, (#����� 4 %����� 4 #6(�'(#�� 5 �.��� ��2���,=
(#�����  ���+ 20 × 40 �� ��%��  "
-/0�1�������������,=����� %) 
�%�
2:�����-�,�-(�'3�5"�
(#����� +�������(���'(#��,+-���(#�����+���  4 × 4 (�' 1 × 2 �� ��%��  �5����' 4 (#�� %����
/0�1�������������,=����� %) 
�%�
2:�(�'��  �+��5���,�-��5 ���(�'�?�,�-����.�+�2

 ���� /0�1��������,=����� %) 
�%�
2:�����-�,�- (trees) # ��F��� �� %) 
�%�
2:�����-�,�-"���G�
���%����� 3 #6 ����� ��� %) 
�%�
2:��?���+ :+5����� ��� %) 
�%�
2:����%�-�����/?�5H����%��5���(�'��G����
*�-���+%I���5%�����2 0.373 J�./#6 (2.21 %)  (�' 0.0010 � .�./#6 (4.50 %) ����.�+�2 ������,+-(�� (#��
��2���,= (#��%����� 2 #6 (�'(#��%����� 4 #6 ����.�+�2 ����(#��%�����#6 �-�,�-����� ��� %) 
�%�
2
:����%�-�����/?�5H����%��5��� (�'��G����*�-���+�-�5�����+ %�����2 0.237 J�./#6 (1.29%) (�' 0.0007 � .
�./#6 (2.65%) ����.�+�2

 ������������,=���,�-��5 ��� (Sapling) # ��F��� ,�-��5 ���"���G����������,=����� ��� %) 
�%�
2:����
%�-�����/?�5H����%��5��� (�'�����?�%I���5��������+%�����2 0.408 J�./#6 (24.70%) (�' 25.75 J�./#6
(15.42%) ����.�+�2 ����"���G����%����� 3 #6 ,�-��5 �������� ��� %) 
�%�
2:���.���+ :+5����� ��� %) 
�%�
2:�
���%�-�����/?�5H����%��5��� (�'�����?�:+5%I���5%�����2 0.25 J�./#6 (5.00%) (�' 3.00 J�./#6 (6.00 %)
����.�+�2 "� '5'%��� 4 #6 ,�-��5 ���"�(#����2���,=������*��(�����������+%�����2 3,281 �-�/%W�(� H
:+5��).�����?�,�-���%) 
�%�
2:�%#X�,�-��5 ���,+-��������+ %�����2 71.43 %  ������%#X�(#��%����� 4 #6
(#��%����� 3 #6 (�'(#��%����� 2 #6 ����.�+�2 +����G 52.94 %, 33.33 % (�' 20.00 % ����.�+�2 ����
(#��%�����#6,�����?�,�-%) 
�%�
2:�%#X�,�-��5 ���

�.�* �2��� ���  �+��5(�'��  �+��5����  !��
3�5*���,= �2����?�,�-��������+%�-�����/?�5H
����:����.����� 1 J�. )'��5 100 % "������G��������.��� %�� (�'��� ��� ��5)'�+��%�������+%�-�����
/?�5H����:���-�,�-����?�,�-%�
���0G� :+5�?�,�-��������+%�-�����/?�5H����:���-� ��G�(�� 2.5 J�.�0G�,#)' �+



��5)��,= (�'3�5*���,="� '5' 1 Y 2 %+��� �?�,�-��� �+��5��:����)'��5%�
������0G�)���� %# �52
%��52��� ��� ��5����?�,�-��������+%�-�����/?�5H����:���-�%+�5����"�(#��%�����#6��2(#��%����� 3 #6
�2��� �?�,�-"�(#��%����� 3 #6 ����� ��� ��5�?������?�,�-"�(#��%�����#6
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�� %) 
�%�
2:�����?�,�-%�&���G�# ��F���"���G������2���,=�?�,�-%�&�)'����� ��� %) 
�%�
2:����
�����?���������+ %�����2 3.94 J�./#6 (7.71 %) (�'�������?�%I���5 %�����2 66.7 J�.  ������,+-(�� (#��
%����� 4 #6 (#��%����� 3 #6 (�'(#��%����� 2 #6 ����.�+�2 ����(#��%�����#6 �?�,�-%�&�)'�������?�:+5
%I���5 %�����2 50.1 J�.
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